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X % = i

B 8RF565 ~9RF1642 13085159 ~ 1385355
. i BEDSS./HIEE BIEDSS BIEE
A= SE DR R 100cm | 50cm 5cm 100cm | 50cm 5cm
[©) b F 0.17 0.18 0.19] 0.10 0.11 0.13
@ b | 0.19 0.18 0.16] 0.08 0.08 0.09
©) =D 0.08 0.08 0.10| 0.07 0.08 0.09
@ av9)—k 0.08 0.09 0.09| 0.06 0.08 0.10
® b | 0.15 0.14 0.15] 0.07 0.10 0.13
® b F| 0.15 0.15 0.19] 0.08 0.09 0.12
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1E B RE=% RE=%

HBI%E B E244FE12H108(A) TER25E3A4H(A)

x = i =

B 9EE50%9 ~ 1085155 9FE50% ~ 108155
. g BIEDSS AlIEE BAEDSSAIEE
AR SE DTN 100cm | 50cm 5cm 100cm | 50cm 5cm
@ b ] 0.12 0.12 0.14 0.11 0.12 0.12
@ b F 0.21 0.22 0.19 0.13 0.12 0.10
©) av9l)—k 0.06 0.06 0.08 0.05 0.06 0.07
@ a9 —k 0.06 0.08 0.09 0.07 0.07 0.08
® b F 0.08 0.09 0.11 0.08 0.09 0.12
® i F 0.08 0.10 0.10 0.09 0.09 0.08




